a(0 z) (um) tor PV Ratio a(0y) (um) for PV Ratio (0 X) (um) tor PV

Ratio

=
o
w

Sumlgf track p_ (GeV)

£ £
= 2
< 10° 0
ol ° :
5 5
>
o
Q
>
Q
£ 10°
10%E <
=<
°
S
10F
J..UZJ_ 9 J..UZJ_ 9 1.U0
X Il X T
[ o [ [vd
= = 1
oost i i il : : oost LI IRV TBTTE i) 0,05
10 Sum of track p_ (GeV) 1 SH?m of track p_ (Ge\})O 1
—— DQM_V0001_R000000001__Global__mkFit1000__RECO
—— DQM_V0001_R000000001__Global__mkFit100__RECO
£ £
= 2
= 10° 0 10°
10° > 5
5 5
>
o
(3]
....... >
]
S
10%F 8 10°F
=
e
5
10F
Lol | o W o +w
r il I r I
[ bl o hd [ x
- T - 1
oost i ilil ; : 0.9st—LLL ALUEERERITILLL ] 0.95
10 Sum of track p_ (GeV) 1 SH?m of track p_ (Ge\})O !
3 3
= =
< 10° 4
10? S 8
o g 10°
>
°
(]
..... =
3]
1S
102k s
= 10?
o
S
10}
Lo o +wof o +w
T X Il
24 [ [vd
il I 1
0gsL—ili | :2 : : 0.95L : HEANAAHAR : AAESAHH , 095
10 Sum of track p_ (GeV) 1 §L9m of track p_ (Ge\} 1

Sumlgf track p, (GeV)

Sumlgf track p_(GeV)



	Contents
	Page 1


